
Answer on Question #76699, Physics / Electric Circuits 

 

Two concentric thin metallic spheres having radii 30 cm and 20 cm carry 10 µC and  

5 µC, charges respectively. Calculate the electric potential at a distance of 25 cm  

from the center of the spheres 

 

 

Answer: 

 

Potential inside of the sphere is: 𝜑𝑖𝑛𝑠𝑖𝑑𝑒 =
𝑘𝑞

𝑅𝑠𝑝ℎ𝑒𝑟𝑒
 

Potential outside of the sphere is: 𝜑𝑖𝑛𝑠𝑖𝑑𝑒 =
𝑘𝑞

𝑟
 

At a distance of 25 cm:𝜑 = 𝜑1 + 𝜑2 =
𝑘𝑞1

𝑅1
+

𝑘𝑞2

𝑟2
 

𝜑 =
𝑘𝑞1
𝑅1

+
𝑘𝑞2
𝑟2

=
9 ∗ 109 ∗ 10 ∗ 10−6

0.3
+
9 ∗ 109 ∗ 5 ∗ 10−6

0.25
= 4.8 ∗ 105𝑉 = 480𝑘𝑉 

 

Answer: 480kV 
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